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No; for he alleges a claim of blood — DIMT NIV YV RPT KD

OVERVIEW

The X3 concludes that we cannot prove from the 7wn that the husband is
believed 721> 7770977 with "5 Nww; but rather he can be 7051 her 721> only
with 2°n7 navv. Our Moo discusses the difference between 9" N1vY and 2°»T NIVY,
and what the woman’s claim is and why we do not believe her.

mdoIn explains the reason 0°n7 NIWY is effective (as opposed to 5"5 W) -
- ‘o473 ©2aY99n 122970 PRI D992 NIYL NNHNT

Because it is a verifiable claim, since the sheets are not stained with blood, this
proves unequivocally that she is not a 721n2. However, regarding "5 we do not know that it is so
(perhaps he is lying), and in addition he may not be a *p2.

mooin discusses what does the woman say when the husband claims 2°21n2 nvu:?
= 9N PHYAYT 01T NIYLI NN NN NIYLIT AN

And it is the view of Mo01n that regarding 2'"'® ni1yw and 227 vy of our XY,

we are discussing a case -
- %1157 75N NN I *POIPRA 1YY NI NINY NN NIV

Where she either claims that her husband was ¥ X2 when she was his 019X,

or she maintains that I was a 79102, by the first 7i%*a and the husband is either making a
mistake or lying. However if she would claim >noix1 *1no7&wn she would be believed.

nvoIn asks:
= NDINI INDVINYN NN NIV INT 1NN N9 N3NNI 99X ON)

And if you will say; and let us believe her (either that 10172 7% X2 or 12102

'n>17) with a 1% that she could have said, ‘I was forced after the 2TP’, in

which case had she claimed >noiR1 *1n0Xw» the ruling would be -
= 9D (3,2 9m AP 1PPVOT INIDMIN 1299 NN

That she is believed according to »''9, and we rule according to 2"1 as 7717 2

! Every 77102 (except for certain exceptions [mentioned on " 77]) bleeds after the first 7x"2. The 077 nivv is effective
when it was verified that there is no 0°21n2 07. Perhaps moon is negating X? 17"72 *"w1o that there were 07V who
verified it; according to MooIn the lack of 0393171 0°1>70 is sufficient to verify his claim.
2 There is a mwn later on 2,2 that if the husband claims 2°71n2 navv and she claims “NOIRI 1IN0 XRWA, she is believed
(according to 3"7), so how can the X3 rule here that (by 07 niyv) he is believed.
? This can apply to either "5 niwv or a7 Nww. She is owed the 72103 since he was 7°9y Xa.
* This would seemingly apply only by 5"s niyu (but not by 27 niv, since there is incontrovertible evidence that she
is not a 77n3). [See ‘Thinking it over’ # 2.]
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SXINW X states later.5 Let us therefore believe her current claim with this 11 that she could
have claimed >noix1 *1noXkw» where she would be believed.

N1B0IN answers:
- 5NN’ NYYIY 1Y NI NIRT MY Y

And one can say that she will not willingly admit that someone had relations
with her.

mooin offers an additional explanation why there is no 132 here:
— 5n39191 AW RYDMT "1 AT PNT TN

And furthermore she is not believed, because this is not a », since she
invalidates herself from marrying into /71%13, by claiming >noix1 1o xwA.

nvoIn asks:
- %N 9‘{9 N N9IN NP INT I NNNYT AYH YaN

However there is a difficulty for let us believe her (that 1017°X2 *%¥ X2 or 77102

'n>17) with a 1a» for she could have claimed, ‘I am a y¥ n>y2’. This is a valid 13 -
= 113 DT PNT NN DNND XY NN YININT (3,0 91 PAPYT 19299 199N

Even according to the 1129 (who argue with »"7) who maintain later that the

772102 of a y¥ nom is only a /711%, so seemingly there is no 1% of yy nom -
- 1anainan 0199 19097 N¥Y NINT

Since she does not want to lose anything from her 73102 -

> There is a dispute in this case where she counterclaims his 27712 nivv with *no1 *1N0 XWwn, where ywi "1 does
not believe her and 3"1 and 7v*9% "1 do believe her. XMW R 7737 27 stated 2"13 7397, The same 2R rules here
that 5" niyv is believed 7NN 77°0977!
® A 1n is effective if one can claim the 1» claim with the same ease as one claims the actual claim. In that case we
say he is certainly telling the truth, for he could have just as easily said the 13 claim and be vindicated. However if it
is more difficult to claim the 2 claim; the 12 is ineffective. We say that indeed he may be lying; the reason he did
not make the vindicating 13 claim is because it has certain drawbacks (it is embarrassing, etc.). Here too it is easier
for her to claim the actual claim of 1°017°X2 *¥ X2 or °n*7 7912 (which is not that embarrassing) than to admit that
she was forced upon by a stranger (where she may be [also] concerned that her husband would despise her).
7 See previous footnote # 6. See “Thinking it over’ #1.
¥ The rule is that any woman that had a forbidden 7%*2 is considered a 777 and therefore forbidden from marrying a
119, If she would claim °noiX1 *1n0RW» she is admitting to have had a 770X 71X (since she is an ¥°X NwX), and
therefore she would never claim it, in order not to disqualify herself 71172% (in case her current husband dies).
? A yv nom (literally hit by wood) refers to a woman who lost her 2212 on account of a wound, but not through a
relationship with a man.
' The two reservations mentioned previously in mooWn regarding the w2 of *noiXa *1no Kwn do not apply here; she
has no difficulty in claiming y¥ n3m (as she has when claiming *noiX1 *1n0Xwn) and she is not 7237797 7Wwo1 175097,
"' Her current claim of 70X °HY X2 or N7 A7In2 (if believed) gives her a 72105 of 0°°nxn; however the claim of
v¥ N> gives her a 721n2 of only a 711, so we cannot say that she should receive o°nXn, because she could have
claimed X yv N1 and received a mn!
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- Byn1w nonno Zennm 5N §Y N9 19N XY INT 113 NN DYPN Yan
Nevertheless she should be believed with the 1% that she could have claimed I

became a y¥ n2 while I was your 77017X where we say that his field was ruined.
The question remains why do we believe his 2°21n2 nwv and make her lose her 72103, let us
believe her claim (of either P017°X2 °%¥ X2 or N7 72102) since she has a 1 of 7°nnn Yy nom.

N1B0IN answers:
- Ba109m N1IY0a NNV BTN PNXT NPT 01PN I MNNT NI TaY

Therefore it is the view of n1o01n that this (32 of 7°nhnn *IR ¥ no1 [as well as the
12 of "nNDIX1 *1n0XRWnK]) is considered a 1 which contradicts the P17 of 278 PN
777901 77IYe2 MW (a person does not toil for a meal and then ruin it).

Mmoo anticipates a difficulty:
= NJIN NP 01292 1) 190N ON (0w 2,0 97 RINA N22T NIP P92 N¥N NOYAT ) DY N

Even though that there is this query in the first P92 of 2''2 n2o»n whether a w»
mpm @IpRa is effective or not,'® so why do we dismiss this (7P 23pn3a) 130 —

mooIn replies:
- NOMY NINT APIN NOY

Perhaps this 7211 here is superior to the 7pin there and all would agree that it renders the
131 ineffective.

mooIn offers an alternate solution:
929V 993 NN NINNAD 1M1 13299N XY IN)

12 The ruling of the 1127 that a y¥ N> receives only a 711 is valid if she was a yv N2 before the 1°017°R. However if
she became a vy n>mn after the 017K, all agree that 2>nXn 7102103,
" This is a metaphor; it is as if you bought a field and it became ruined; you have no recourse, here too you married
me and I became a y¥ n>m after the 1"w17°p and you too have no recourse but to pay me the entire 72103.
A 7P 0P 1 means that the actual claim (which we want to believe because of the 11 claim) contradicts the
7ptn. Her claim of 10171°X2 "5y X2 or °n>1 72102 alleges that he is lying with his 0°7102 nivw (for he claims she was not
a 17102 and he was not P011°X2 %Y X2). However the npmn of 77°00m1 77902 171w 07X X tells us that he is not lying.
Therefore this 13 which is seeking to support a claim which is contradicted by a 7P is ineffective.
"% See previous ('277) *X» 71"7 'o1n TIE footnote # 1.
'® The xm» there cites a 7ipt that a person does not pay up his debt before the due date — 3321 I ¥ DIX PX.
Therefore if the m7n came to collect his debt 11 70 and the M~ claims >Ny, he is not believed. The question arises
what is the ruling in a case where the 71%» came after the due date and the M7 claimed that he paid it before the due
date, do we believe the m? since he has a 2 that he could have said, ‘T paid you after the due date’, or we do not
believed him since it is a 711 1PM2 149; his claim of 111 710 *nYI5 is contradicted by the 7P of "0 ¥y70 R"X.
"7 The presumption that 77°09%) 77%W02 FM0 X"X is more convincing that "0 ¥y X"X. There is actually a np¥omn
there regarding the 7p1m of 1" 10 y72 K"K, where 8271 °2x disagree with this 11, It is 2" who maintains this 7pm. No
one seems to disagree with the 7P of 77°05M1 77TW02 MWL R"X; indicating that it is a superior 751,
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And if we will maintain that a X°2y7% % is ineffective!® it will also resolve this
issue.

SUMMARY

0’17 NWY is a convincing claim. The woman claims either P017°X2 *%Y 82 or 72102
"n»7. There is no 1» of "NOIX1 "1NDIXYWN because she is not comfortable with it or
because she disqualifies herself 71727, Alternately this 12 as well as 7°nnn Yy nom
is ineffective either because it is P17 DI or it is a R¥XI72 .

THINKING IT OVER

1. mooIn gave two answers why the 1» of >noiX1 *In0IRWA is not an effective 1. In
the second answer (she is 7137151 779091) N1DOIN writes 1A 17 rx7;"? however he does
not write this (3» 77 1X7) regarding the first answer that 17%¥72 77 7°X. Explain!

2. mooIn writes that the entire X°20 is discussing a case where she claims 9 X2
1O1KR2 or °n»i1 9 n2.%% It would seem that this also applies to the 7awn of YK 997
7772 v, where he has no 222102 niwv and she is believed. This is seemingly
understood when she claims 1017 X2 °%¥ X2 since 71y 7 nAWw; however why is she
believed if she claims °n»n 77112 (we cannot substantiate her claim T7°nAw 197
7y; on the contrary it disproves her claim); why is 777 different from 929321

A ¥ 13 means that the litigant who has the 13» wants to be believed to the extent that he should be able to
collect money from the other litigant. In our case the woman is the ¥*¥1»; she wants her husband to pay her the 721n2.
The husband is the prmna. The money is in his possession. Many authorities rule that 1K X? X*¥177 21 (see 12 '01N
m 7"7 K,3), therefore even though it is a valid 13 but it does not present sufficient proof to be 11% XX from a prmn.
To be 11m X% from a prmn we need unqualified proof such as o7y (or a 0*1pn VW), etc.

1 See footnote # 7.

% See footnote # 4.

*! See Yax 1"7 'oIn.
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